
Time: 10 Minutes Paper Math 5 (T-3) Total Marks: 10

1st Month, 2nd Week, 3rd  Day Unit # 1, Addition and Subtraction 
Q.No.1. Choose the correct option. (1 x 3 = 3) 
i) Price of a car is Rs. 798 908 and price of a truck is Rs. 543 729. The total

price of car and truck is:

 543 729  798 908 
(a) Rs. 1 342 634  1 342 634 (b) Rs. 1 342 635  1 342 635

(b) Rs. 1 342 636  1 342 636 (c) Rs. 1 342 637  1 342 637

ii) Laubna has 554 876 books in her library. She gave 263 755 books to her
friend. How many books are left with her?

 263 755  554 876 


(a) 191 121 (b) 291 221 (c) 291 121 (d) 191 221
iii) There were 293 109  pencils in the store of a factory. 625 834 more pencils

were produced. What were the total pencils?

 


 


 625 834






 293 109 
(a) 918 943 (b) 818 843 (c) 818 846 (d) 918 843

Q.No.2.Sadia bought a plot for Rs. 659 814 and another plot for Rs 799 999.
Find the total amount she spent. (2 x 2 = 4)

 799 999  659 814 
__________________________________________________________________

__________________________________________________________________

Q.No.3.Amna has an annual income of Rs. 456 750. She spends Rs 125 295 on
the construction of a Masjid. How much amuont is she left? (2 x 2 = 4)

 125 295  456 750 
__________________________________________________________________

__________________________________________________________________

__________________________________________________________________________________
Q.No.4.Lahore has a population of 459 814 in one town and 375 919 in the

other. (1 x 3 = 3)

(a)What is the total population of both the towns? 
__________________________________________________________________

(b)What is the difference between their population? 
__________________________________________________________________
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